m BOILINGPOINT/_:F\ | | | | | | | | | |
—[100 [-100°C — 212°F~ =S
—|so |
B OF WATER 5 J \ /
= His o0 1 GALLON
=|® o L,v 4 QUARTS
=l o e 8 PINTS
—[e0 ol 16 CUPS
= fz FREEZING POINT jﬁEr — 128 OUNCES ’ ‘
=[° [oc —seFd DIE 3.8 LITERS  Soda
— |10 OF WATER 10 |=
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— 12 oz ympicp
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5 - 0 1 gallon = 3.8 liters

1 liter = 1000 ml|

1 kg =1000 grams ||
pound = 16 ounces Are we there yet?

—=n 1 kilometer (km) = 1000 meters
1 kg = 2.2 Ibs (pounds)

1 mile=1.6 km
1 mile = 1760 yd= 5280 ft
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1T meter (m) =100 cm = 1000 mm



